IR = DTN ERABREEAE
I " s
7N n J- - _J\ __A D

JLB (A2VK)

Metering pump for PU------

Variable pump and Fixed Pump



NS A
W oane

AENE

JERE2Z LV ARG R FMEA T (RIFRE2RE) » AP ESEMERERE. #fk
YRS+ — S B il Al . #2590 AL+ 19954
8H, KL TWRFEIIRIIE AN & 4= M
BCEMSE . Lg% ATREEAMS ), AvfFE
P JLBRIIREA S ERE EAELE R ERRTEHE N6
IET RAF R, 7R E P R E R E R R U SRR
M mEl, B3] 7% AR R

2 AR R T A OAE, Rl L B EH P
[FIfsRk, AWIFAH . JLBRYIRE B EAEE
W EAIEHERS. 12, 28, 55. 107, 2251/ NFPHL,
WEE T REEE S H ST, FRAHEE TA2FK L
AV REAGEREEE, HEE NS, 104 12, 28, 55, 107. ifisEiiibl BRI HIATVK12/28 %L 5
A& ERE e B 0=5, RAERESNENL, NP2 MiER.

“EIL R, RO ESNL” RN O ARKEER . BRATTR 0 A ) e S 5T,
SRR B TARMETE, A RRHEXNTHE. #2 ANERRHX—Y), HhS5EEFLE,
ROREFL R R R EA G A, RIRAIEBEE A ML EHE, AARELEABR LIk,

Beijing Gelan M&E Technology Co.,Ltd.

Beijing Gelan M&E Technology Co., Ltd, known as Gelan Hydraulics, is one of the leading hydraulic
pump manufacturer and supplier in China, with a comprehensive line of technology, production, sales

and maintenance.

The company is established in August 1995, dedicated to innovative, manufacture and related services
to provide high quality hydraulic pumps. It has acquired the 1ISO9001 Quality Management System
Certification. The company has more than ten professional technicians with working experience in
Germany. With extensive expertise, the company has developed into a Group Corporation which is
made up of “Shanghai Branch” , “Guangzhou Branch” , and expanding worldwide with local
agencies. The business continues to grow throughout the world by exporting to north America, South

Korea, India, Italy, Brazil and Holland.

Please believe: Beijing Gelan Hydraulics will be your business development indispensable, let you

trust the partner, we are your sincere friends!




B

JLB(A2VK)ITER B SR

Fi& Introduction
HEENEEMAEER, ZEFEHTREREMTERRZBE
Gelan hydraulics developed pump “JLB”(A2VK) is a type of variable

axial piston pump for pumping and metering polyurethane components

¥ Features
o FARE TR R E AN
High metering accuracy and reproducibility of the variable pumped volumes
o JE T N BRI B2 KT AT FEATRE, HTHER, BT
Robust manual adjustment via handwheel with integral precision measuring
scale
@ L{EHJImT%|25Mpa
Operating pressure up to 2b0bar
o Bt OEJAR, ARSI
Low suction pressure, even when pumping high viscosity materials
o BRI AHILE FIM B IR R B A, REHEEENME (225
WEr. FEERE) HE.

Pump components are compatible with the pumped media (polyol, isocyanate)
due to special pairings of materials and sealing elements
e mElkan/N, BREES

Excellent volumetric efficiency for high metering accuracy




W meen

HiRZ% Technical Data
@ TIAIHE Installs the position
EE. FEOAARKTELEW. HRERMME: A3k
Any. The pump must be completely filled with fluid.Preferred installation
position:drive shaft horizontal
@ T[/YEEA7EHE Working pressure range
@ Ol Input
FrA B Wyl A SASN0. 1-0. 3MpaZi Xt & 7
Filling pressure at the port S is 0.1-0. 3Mpa
BB i CTARIBAY B /) 2 FI<<26Mpa (32Mpafiii]) 7EiH NI TERTALHM &,
R VA A2 0 AU oL B P T 2 vl T T LER T2
Closed circuit:Max. intermittent cumulative pressure
A+B pmax is 25Mpa (Output Maximum pressure is 32Mpa)
The leakage fluid must be removed via port Tl or T2 using a separate line.
o MO G DABKBRIE A7)

OQutput (Maximum pressure at port A or B)

AFREFIPN 25Mpa
Nominal pressure PN 2bMpa
A J7Pmax 32Mpa
Peak value pressure Pmax 32Mpa
Wi Jral  Through put flow
Eahr51e) I £t iR BRTEHHERE
Swivel Clockwise rotation Anti-clockwise rotation
direction
F=UEEE A=CElEE FEEE H=E] B
Open circuit Close circuit Open circuit Close circuit
[/ T:hEy SEIB(AEE) AZIB SEIA(BEE) |BFIA
Clockwise Sto B(A AtoB StoB(B Bto A
plugged) plugged)
AT SE|A(BH&{E)|(BEIA SEIB(AEE)|AFIB
Anti-clockwise | Sto A(B BtoA StoB(A AtoB
plugged) plugged)




W s

JLB (A2VK) /A2FK
HIEFKTable of values (HWMH, NEABRHEMAE)

A2VK A2VK | A2VK | A2VK | A2VK | A2VK
HESTISPump series A2FK | A2FK | A2FK | A2FK | A2FK | A2FK | A2FK
A7VK | A7VK
#r&Specification 2.5 5 10 12 28 55 107 225
HEEVg max Displacement Vg max Cm3 25 4.93 9.4 11.6 28.1 54.8 107 225.1
s AHEHE (AUE ) N=1450 Kg 0.06 0.15 0.24 0.32 0.75 1.46 3.83 8.3
E0MEAHIHE (IELUE) N=1450 Kg 4 8.5 14.9 19 45 88 170 380
B|AfEQmax Current capacity
Omax n=735rpm 1.8 3.6 6.9 8.3 20 39 76 160
FREEEF , FESSIHned
L/min
( #¥&Ev=36mm?/s ) N=970rpm 2.4 4.7 9.1 10.9 26 ol 100 210
Flow at Vg max and speed n N=1450rpm 3.6 7.14 13.2 16.3 39 77 150 315
IhEE , FEAp=25Mpas&iEAn n=735rpm 0.7 1.5 3 4 9 17 33 69
Power , in Ap=25Mpa and speed n | N=970rpm | L/min 1) 2 4 12 22 43 90
N=1450rpm 1.5 3 6 7.3 17 33 65 137
Ih=E , &E£Ap=16Mpa , FiEANn
N=1450rpm| Kw i} 5 9.0 5.5 ala | 22 45 i
Power , in Ap=16Mpa and speed n
RiF{IEEWeight 26/6/11.| 40/12/2
( A2VK/A2FK/ATVK ) Kg 3 25/6 6 B 21 75/23 | 133/46 230

MA F3)Z5E  MA manual variable
BB TR w5 5 SURAT IR FIB A3, AT 4 5= A0 HEE 2 AL E Qo 2
Qmax i -h kA 4L

Turning the handwheel turns a self-locking threaded spindle which
steplessly adjusts the pump’ s swivel section

and thus the volumetric flow in the range

from Q, to Qmax.

| SO

s
3 FAER AR @R
Operatas 1o type relurn route Closed lype ralum roule




W e

JBl 12 | MA| O R Pl 1

KEARX
Assembly version
RER
Types of the Pump 1
- FRELMN —
JLB Hand wheel on the left side
HER .
Metering Pump FREAM
Hand wheel on the right side
g s
Specification EDi:;I)acement) (M asn s )
( Looking onto drive shaft )
4.93cm® 5 L3RG
11.6cm?® 12 T P
Parallel Keyed
28.1cm® 28 Fo (i)
i ‘ Parallel Keyed PL
54.8cm® 55 (Lengthens)
WA B (i)
3 107 Direction of rotation
Wrmn (Looking onto drive shaft)
3 225
225.1cm NG e 5t R
TRAS (RAFERER) SRR
Control devi
T S e 5t
Anti—clockwise L
FHLR L
manual with handwheel
=] 28 2 3K
Types of circuit
FrEsm O 72 s 21
Open circuit For example ‘
JLB12MAORP1 it Note
i3t [ 8 G BRI, HiE (HiE ) 12 HRRILBIRSTALR
Closed circuit Metering pump JLB,Specification =~ A2VKER
High permissible filling pressure g;'g:fgﬁ:)l‘;_t@%
for highly-viscous media or : ’I'a . 'l\AAI ' JUB * gives you perfect
hydraulic fluid by separating GNLFR\JEE 7 P
! Open circuit compatibility with

the filling channel and pump

bousing WRESHhiESS | ETSR , Fieree  Rexroth A2VK pumps

Clockwise rotation , Parallel Keyed
handwheel on the left side




W e

JLB5/12MAZRSNEE |
\ JLB5/12MA pumps installation drawing

Assembly way 2
(hand wheel in right side)

130 R exhaust Assembly way 1 i [?ggéé)
1 \/} (hand wheel in left side) 97 99
—— wLE kEFAL U3
o| o5 A T il (FREEM) ——H S
= = = i . R 4 e
E § 1 lri_‘ I j Tl 3 - = & rDﬂD_u]
=4 - \ | i \&y :\ « ; b H
- sy = x| oo
= 4 U — = U4 HH@ K% @l H | =
= \&é— ; ﬂ'{ k ‘ D
= Anti-clockwise |Clockwise||{® ¥.\_ 2 w
\n g | J et | MR \C*% '%’ 4-NB12
50 |, A= s 4 e =
w T T\t 0
50 e s Toil outlet Hhf A o
) gt g ] 160
80 171 Adjusts swivel section

Stepless adjustment

RS He ] e SO0 S A 8 3 R T (RAIE 22 4B AT
Double shaft sealing made of special
material guarantee safe operation

37,3
| ] XI‘,’]
I ] S
|| 4-M10%15 \
M6, %10 19 - & \ 7
] | @ 9 &Eﬁ "ﬁ/
4 L —— D
e U AT T i
& I N AN @ @ @ i 7 =
6 6x15. 5 \i = s"a
Parallel Keyed6X6X25,5 19 @
L
49 TL_!
[ L ! |
N Port
SHOER s

A service line port M22x1.5

(only used in closed circuit)

B Service line port M22x1.5

S Suction port (only uses in open circuit)
T Case drain fluid M12x1.5

T1,T2 Leakage port M12x1.5

R Air bleed M12x1.5

A [EFHO M22x1.5 ({RBFHXEE )
B 730 M22x1.5

S A0 (VBETFHAREE)

T #GH0 M12x1.5

T1,T2 #5H0 M12x1.5

R HESO M12x1.5




W e

JLB2SMAZRHINEE |
\ JLB2BMA pumps installation drawing

Assembly way 2

. Assembly way 1 i 3 :
185 R exhaus - O — . P - {1h;6nd wheel in right side)
A\’_F /Rjj‘- //S o0il in 1 — 105
wes 1 -
=l n H— % }Eé ' = ——F i1
§ —\ / \y _J:E_ = B (A~ E J_E T = "\ _LJ ~
= ) | 1 = A /a/' <:c ==
-l . ﬂ o . — Qg[j KR u4 /ﬁs |
2J % 1 (FREEN) - .
B il = g + & = (FREEN
b TS < p——
g Toil outlet| 114 M
100 132
Anti-clockwise | Clockwise
152 # ité
. St
T
R TR ek ) AL T 0 il B R T RAIF 22 438 4T Adjusts swivel section
Double shalt sealing made of special Stepless adjustment
material guarantee safe operation
14
é 4-M8, E11 ] 1 [ F
S y | F
* : L e
X @ “ o /
— 10 /
IS f,
" 69.9_|
FRExx40 | 5 b 98

Parallel Keyed8XT7X40

Ports
A service line port M27x2
(only used in closed circuit)
B Service line port M27x2
S Suction port (only uses in open circuit)
T Case drain fluid M18x1.5
T1,72 Leakage port M14x1.5
R Air bleed M12x1.5

HOERE
A [E/35H0O M27x2 ( {REFAZEE )
B E/ilO M27x2
S B0 ((NEFHEER)
T Koha M18x1.5
T1,T2 @O0 M14x1.5
RHESO M12x1.5




d

JLB55MARANEE |

JLB55MA pumps installation drawing

: . s e A bl
AR ] 0 00 T 5 B T (R 92 438 4T st st e Tth skl
Double shaft sealing made ol special

material guarantee safe operation
s o R exhaust M T

110 Rik5 D 0L, FI0 118 13

§50
" am 1| &=— -
ge————
i [

$200

W10x1, 310 bz I
} v = i J =
01 V17
o = IM 1 wlliy > n
I == 3 3
= | A . == y
=T ™ J (FREEN)
- L 1 _*".lﬁ
i wagxg N HE
Toil outllet ﬁ“ ERHA
71 240 | 261 (FREER)
s L7 Anti-elockwise | Clockwise Assembly way 2
440 el WiBk of (hand wheel in right side)
1 0 1
FESG Y
Ttk

Adjusts swivel section
Stepless adjustment

Parallel Keyed8x10X40

FHEx10x40
AN - B
.‘é V;:r oo ﬂ‘b L
=1 ~ i
=2 b $
- ]
. s ‘| ’ b]}
2 I":m_i;{
A Ports
HOERE

A FEF3iH0 M33x2 ({XEFFAEE ) A service line port M33x2

B E/3HE M33x2

S #E0 ((RAFHEES)
T BGHO M22x1.5

T1,72 A0 M22x1.5

R HE{O M12x1.5

(only used in closed circuit)

B Service line port M33x2

S Suction port (only uses in open circuit)
T Case drain fluid M22x1.5

T1,T2 Leakage port M22x1.5

R Air bleed M12x1.5




AMEE Gelan Hydraulics

JLBIOTMAZRSMNEE )

JLB107MA pumps installation drawing

1 Zgn

AR Rt B 1 0 A 2 e W T PR 2 4B AT
Double shaft sealing made of special
material guarantee safe operation R exhanst 303
148 1B 2hs] 63 M10, F10 i 1435 138.5 .
”
B ;&#_\ -2 <A T S . e 3
\ IE
[ - "-\‘ S :i § | ]
HL0x1, %10 * / {V = I T st <~
198 ! l i, B v ﬁ\ 'l o
® /

!

e

-
160
160 i

.

= . 4-H16
6 | 9 NG ¢ EEA AL
- Toil outlet ERFAL (FBAAM)
388 (FREZN) Assembly way 2
Assemhly way 1 (hand wheel in right side)
348 (hand wheel in left side)

Anti-clockwise iiﬂ'l"ﬁ' :ﬁﬂa‘% Clockwise
T —

1 0 1
AW
T B |
Adjusts swivel section
Parallel Keyedl2X8X63 74 Stepless adjustment
1x§
BRISESE I
O J+ =
:;': ’g:-- = ‘P)(\‘$‘ I /L |
= [ = 3 \/9 I P f
=
== 50_4 + +
7 iy
11 7
Ports

SR
A [EH0 M42x2 ({XETAREE )
B E/3iHO M42x2
S #HAM ((RAFHUEE)
T HEHO M27%2
T1,72 itihEA M18x1.5
R HESO M12x1.5

A service line port M42x2

(only used in closed circuit)

B Service line port M42x2

S Suction port (only uses in open circuit)
T Case drain fluid M27x2

T1,T2 Leakage port M18x1.5

R Air bleed M12x1.5




W e

JLB225MARSNEE )
\ JLB225MA pumps installation drawing

A ) e ) 0L T el o o P T (R 22 A ig AT
Double shaft seal ing made of special
material guarantee safe operation
1 R exhaust 295

B RAGH
w \| 7T
[

Mi0H, 10 7.5

158
A
ﬂ;t;+ﬁ¢j === ﬁrJz—f—j
1 F % b= LI‘ T f_r‘
w5 K2 \\'::ﬁé i 8 'f LL‘
f 2 __\\
DRI 8
£ “’j = fony EN N vﬂ(
§ s | === 87
(== | L 17 a5
NS T TEREEN L -
! Assembly way 1 ]
101\ [ I | A (hand wheel in left side)
N I | e
ol w | T bk s | |
— 570 Toil outlet 20 ($REAM)
Astcuckeis Clockyi
663 LN L Assembly way 2
‘H’;ﬁ]iﬁl’x; (hand wheel in right side)
FokdE
Adjusts swivel section
Stepless adjustment
parallel keyed 16x10x90 ME [§E§
T4 16110190 h i

120

Ports
A service line port M48x2

SHCERE
A ESiHEA M48x2 ({NABFHARERE )
B IO M48x2
S BHHlO (XAEFFEEE)
T HGHO M33x2
T1,T2 MO M33x2
RHSO M12x1.5

(only used in closed circuit)

B Service line port M48x2

S Suction port (only uses in open circuit)
T Case drain fluid M33x2

T1,72 Leakage port M33x2

R Air bleed M12x1.5

10



T zrcseries A

[ A2FK polyurethane fixed flow pump

L Axial piston pump for delivering the isocyanate and polyol media

Main features:

1. Double shaft seals eliminate oil leakage from the pump
2. Range of pump sizes to match customer applications

3. low inlet pressure, can pump high viscosity liquid

4. Special surface treatment increases corrosion protection
5. Small flow pulsation, high volume efficiency

~TTh

6. Made of special materials of biaxial seals and flushing chamber,
easy to damage inspection and environmental protection

Technical data
1. Operating viscosity range 1-2000 cSt
2. Drive speed range 500-1800 rpm

3. Optimum operating temperature range 10-50°C
4. Maximum operating temperature 80°C
5. Inlet pressure 1-8bar

6. Nominal pressure 250bar

BJ=1588/Ordering code
m2FK 12| R[4 [P |4

o1 02|03.04'05 06
RBE TYPE code
|01 | BRI Fixed Displacement Pump IAZFKI
i (NG) Size (NG)
(02| 3BigHER  =Displacement Vo min cm? [25] 5 JT1o]12] 2328 s5[107]
BE¥E B Directions of rotation
08 MiESHhE JERTEt clockwise (standard)
Viewed from drive shaft FfT£t counterclockwise (option) L
EHEZL Series
(04| G5H9 Series (25 | 5 [0 [ [ 4
23 28 3
55 107 1
{£zh4h Drive shafts
osl?&ﬁ'GBlOQGJQ BIF44h parallel keyed shaft according to GB1096-79 | p I
[EER45H Port Plate
(06| 54 Series [25 [ 5 [10 12 [ 23] 28 4

55 107 3




' A2FK series

A2FKZFISMZE

)

‘ A2FK pumps installation drawing

42

A3

*ﬂl\eyed b

410

1
IkH

A9
A7
A

Installation drawing

Al

G2

size | A1 A2 A3 Ad AS A6 AT A8 A9 | AlO All Al2 Al3 Al4
2.5 | 153 | 22 16 36 51 12 14 M4 60 5 8 65 81 10
5 225 (29.5|51.5|46.5|68.6| 20 [22.5| M6 80 | 5.3 10 74 94 16
10 | 235 [ 40 40 42 69 20 |22.5| M6 80 8 12.5 90 112 16
12 | 232 | 40 40 42 75 20 |22.5| M6 80 8 12.5 90 112 16
23 | 296 | 40 60 50 88 25 [27.9| M8 | 100 8 16 118 145 19
28 | 293 | 40 60 50 95 25 [27.9| M8 | 100 8 16 118 145 19
55 | 380 | 63 60 77 | 118 | 30 33 | M12 | 125 | 10 20 150 183 28
107 | 468 | 68 92 90 | 149 | 40 |43.1| M12 | 160 | 12 25 190 230 28
size| Bl | B2 | B3 | C Cl1 | €2 | D | Ssuction port A outlet port T drain port
2.5 | 29 29 56 70 75 | 6.3 | J& M22x1.5 M18x1.5 M10x1
5 |42.5| 13 85 95 | 100 | 8.4 | 13 M22x1.5 M18x1.5 M8x1
10 (42.5( 16 85 95 | 100 | 8.4 | 14 M33x2 M22x1.5 M12x1.5
12 [(42.5| 16 85 95 | 100 | 8.4 | 14 M33x2 M22x1.5 M12x1.5
23 53 [12.7| 106 | 118 | 125 | 11 14 M42x2 M27x2 M16x1.5
28 53 |[12.7| 106 | 118 | 125 | 11 14 M42x2 M27x2 M16x1.5
55 65 30 | 130 [ 150 | 160 | 16 Fc |Flange4-M10(48x48)| Flange 4-M10(50.8x23.8)| M18x1.5
107 | 80 |35.5| 165 | 190 | 200 | 20 15 |Flange4-M10(60x60)| Flange 4-M10(57.1x27.8)] M18x1.5

12

Gelan Hydraulics



W

A7VK [ mA

01 02 ‘ 03 04 05 06 |

HhclAEZE B T Axial piston unit
| o1 | arEEfiEhizit . AFRED 250 bar, B KJEHN 315 bar  Variable bent axis design, nominal pressure 250 bar, peak pressure 315 bar IA?VK I

& (NG) Sizes (NG)

02[IBIEHER - Displacement Vg s in o [012 To2e ]
2H11% % Control device
!03 ﬁﬁﬂ?$$ﬁ¥ij}ﬁ'ﬂ Control, manual with handwheel I MA I
I"‘Eﬁﬁ Operation modes
- W, FXiZit Pump, open design 0
3, Mgt  Pump, closed design G
ﬁﬁﬁl’ﬁ] Directions of rotation
o5 WIEThihE WGERTET, $RAE{E clockwise (standard)
Viewed from drive shaft R, iEfF  counterclockwise (option) L
{E5f4l Drive shafts 012 028
i & DIN 6885 BT #H 220 L ] -
Paralle| keyed shaft according to DIN 6885 025 = ® P
Features

- Compact design

- Reduced dimensions and mass in comparison to A2VK

- Mounting flange, drive shaft and functions identical to
A2VK, thus easy to replace

- Increased corrosion protection through special surface

treatment

- Manual adjustment with prescision display and clamp unit to

prevent accidental adjustment

- Double shaft sealing made of special material and flushing

chamber to identify damage and protect environment

- Improved volumetric efficiency through robust rotary group

using proven axial tapered piston technology

- Optionally available with mounted high-pressure relief valve

- Low noise level

Closed design (A7TVKG)

- High permissible filling pressure for highly-viscous media or

hydraulic fluid by separating the filling channel andpump
housing

- Case drain fluid must be discharged
Open design (A7VKO)

- The housing is connected to the suction chamber. A case
drain line between the housing and reservoir is not requires




A

ATVKI2EONEE )

\ A7VK12 pumps installation drawing

210
17
145
125
851

163

079.8
38.5 385

280-0.074

100

Parallel keyed shaft

P3 - ABX6x25.5
16
% 5 Key widht 6
B - |
& ggg ] ¥ g
30
Ports Standard Size Pmax [bar] State
A Service port DIN 3852 M22 x 1.5; 14 deep 315 (0]
S Suction/filling port DIN ISO 228 G1 1/4; 20 deep 6 0]
T Case drain fluid DIN 3852 M12 x 1.5; 12 deep 6 X
T Case drain fluid DIN 3852 M12 x 1.5; 12 deep 6 X
U Bearing flushing DIN 3852 M12 x 1.5; 12 deep 6 X
Uy, U, Barrier fluid DIN 3852 M10 x 1; 8 deep 3 @]
Ui, Uy Barrier fluid DIN 3852 M10 x 1; 8 deep 3 (0]

O = Must be connected (plugged on delivery)
X = Plugged (in normal operation)

14



W e

ATVK2SZAINEE )

A7VK28 pumps installation drawing

239
199

w

163

o]
& @ ol Bl 2 =
@ =t «w
ol @ S
Sl
2=
';Gm |
= o
B~

11

Direction of rotation counter-clockwise  Direction of rotation clockwise
Parallel keyed shaft

View Z
P5 - AS8x7x40
163
" 19
:E 6 Key width 8
ot 2 ‘ Iy
q EE T r\/AiI o
44.5

Ports Standard Size Pmax [bar] State
A Service port DIN 3852 M27 x 2; 16 deep 315 (o]
S Suction/filling port DIN ISO 228 G1 1/2; 20 deep 6 (0]
T Case drain fluid DIN 3852 M18 x 1.5; 12 deep 6 X
T, Case drain fluid DIN 3852 M18 x 1.5; 12 deep 6 X
U Bearing flushing DIN 3852 M16 x 1.5; 12 deep 6 X
Uy, Uy Barrier fluid DIN 3852 M10 x 1; 8 deep 3 @]
Ui, Uy Barrier fluid DIN 3852 M10 x 1; 8 deep 3 6]

O = Must be connected (plugged on delivery)
X = Plugged (in normal operation)




8
g
:

Y o=

6V 8V LV 9V SV vV €V ¢V I} - ‘

-
ER(TEE
qS1a 3aind 8y
ONI¥dS dnd iy
A3N L14VHS 9
1NN (13
aviH TOHLNOD 144
LNN BNIY eV
13S¥D v
HIA0D Ly
ONIY HIOVAS ov HSNa 1v3s 0z
DN ¥Y3Ig 66 L4¥YHS 3A14a 61
HIA0D 8¢ A3 14VHS 8l
DNI1Y ¥3IOVdS LE DN ¥Y3d il
PNIY 1¥3S 14VHS 98 HSNA ONINNNY 91
ON1¥Y3d
HSH0. DRinnes o TI¥E8 LOVINOD MVINDNY o
ITANYH ve HSNE ¥3IOVdS ¥l
TIIHMANYH £E oNlY¥Y¥3E 11vE el
¥IA00 4] 13MS¥D zL
HSna Le ONISNOH FDNV 14 L
N1 SNOH 0€  (3uNSS3I¥d MOT)IONVI4  OL
J1¥1d LHod 62 AATVA ALIAYS 6
AL¥1d TOHLNOD 82 (3UNSSIHd HOIH)IONYIA 8
HIANITAD Lz RIHS L
Nid HILINID 9z ONIY DNINIYLIN 9
NOL1SId (174 HSNg 1v3s g
HI¥1d DNINIVLIIH ¥2 DNIY 3HVNDS ¥
DNISNOH TIAIMS €2 DNIY 1¥3S 14VHS £
Nid r4A ON1Y HIDVAS z
DNIY 30118 ¥4 HIA0D LINOHA L
uondpasag wayy uopdyasag way

0€ 668¢169¢ G¢ ¥ €¢

=« N W ™~ RO

L1 91GI¥vLELZLILOI

syied aJseds salids (MAZY)Gr

16



£
g
.
3

W o

A7VK series spare parts list

1709 ONIN31SV4 | 3J1V1d 1HOd NOLSId IM0OULS J1ANIdS 1v3S 14VHS ONRIdS dND  [3ISVE ONINILSVH JTONYH 31V1d ONINILSVH
Lz 9 114 ve X4 [44 24 0z 6L
TH3IHMONVH HOLVOIANI Nid ONINOLLISOd |31V1d ONINIVIIY |  Nid ¥31N3D NO1SId ONRV3E HSMNE ONINNNY 1v3s 14VHS
8l 1L 9l Sl vl €l [43 L oL
H3IA00 ONI ¥30VdS | 31V'1d TOHINOD H3IANITAD 14VHS 3ARIA HSNY ¥32vdS ONISNOH ON/ ¥30VdS Y3A0D INOYS

60 80 10 90 S0 ¥ €0 [41] L0

LC

9¢

g¢c

ve
€c

L4

}si] sjued aJjedg

WOO " 1YS | |ue |28 ~mmm
JNMNVYEJAH NV139

HE=#H =
L7

16



-
=
=
=
=
=
=
=
=
®
&=

W o

A2FK series spare parts list

aierd utd
Suturejax =

uoistd

AATIp

3ULIx
I31U3D 4 yeys Sutuie)ax

£2Y 1Jeys

utd

yenq
I3oeds

Sutreaq

ajed y2019q
=7 [O0I3U0d JIpull4l

Henq

SuTuumI Sutx

Suturelax

1Jeys

surxds Jutsnoy

1UOI
Surx %

17



&

Gelan Hydraulics

Company Name
Address :

Phone

Fax

E-mail :
Zip code :

Website

Beijing Gelan M&E Technology Co.,Ltd.

NO.7 Ya An Street ,Shilong industrial District,Mentougou,Beijing,.P.R.China
: 010-60804831

: 010-60804830

: gelanrex@sina.com

102308

: www.gelanlishi.com



	Gelan A2VK catalogue_页面_01
	Gelan A2VK catalogue_页面_02
	Gelan A2VK catalogue_页面_03
	Gelan A2VK catalogue_页面_04
	Gelan A2VK catalogue_页面_05
	Gelan A2VK catalogue_页面_06
	Gelan A2VK catalogue_页面_07
	Gelan A2VK catalogue_页面_08
	Gelan A2VK catalogue_页面_09
	Gelan A2VK catalogue_页面_10
	Gelan A2VK catalogue_页面_11
	Gelan A2VK catalogue_页面_12
	Gelan A2VK catalogue_页面_13
	Gelan A2VK catalogue_页面_14
	Gelan A2VK catalogue_页面_15
	Gelan A2VK catalogue_页面_16
	Gelan A2VK catalogue_页面_17
	Gelan A2VK catalogue_页面_18
	Gelan A2VK catalogue_页面_19
	Gelan A2VK catalogue_页面_20

